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There for is the input teeth =25, output teeth =100 with 85% efficiency 
Then  
So the mechanical advantage is the gear train will amplify the input torque by 3.4 times.
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Gear teeth are designed so that the number of teeth on a gear is proportional to the radius of s pitch circle, and so that the pitch circles of meshing gears roll on each other without
slipping. The speed ratio for a pair of meshing gears can be computed from ratio of the radi of the pitch circles and the ratio of the number of teeth on each gear. its gear ratio

The velocity v of the point of contact on the pitch circles is the same on both gears, and is given by
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Where input gear A has radius r and meshes with output gear 8 of radius rg, therefore,

wa _rt8 _Np
wp 4 Na'

where I is the number of teeth on the input gear and Ng is the number of teeth on the output gear. ety
‘The fiiECHaRICAIAAVANTAGE of 2 pair of meshing gears for which the input gear has N teeth and the output gear has N teeth is given by Crlominioe
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This shows that i the output gear Gg has more teeth than the input gear Gy, then the gear train amplifies the input torque. And, if the output gear has fewer teeth than the input gear,
then the gear train reduces the input torque.

Ifthe output gear of a gear train rotates more slowly than the input gear, then the gear train is called a speed redlucer. In this case, because the output gear must have more teeth
than the input gear. the speed reducer will amplify the input torque.




